Valve

4V200
4V300
4V400
Manifold
3v1

JEL

JZF

MVSD

VF,
, PU,AM

BM

Diaphragm
Coil

2V

2w
2W(Big)

2P
2L

VX

PU
PU225
2Q
JEL5404
JEL6213

Pu

JELJZF

4H

TSV

MPV

4HV

HV, K
4R

aF

MSV
M
ASC, RE

4\V/100 Series

Solenoid Valve, Air Piloted Valve

4A110-06

\'74

®
JE L P C The way to automation

4V110-06

4V120-06

4V130-06

iOrdering Code

M5: M 5 x 0.8 Blank: Threaded

_-_m-ﬂ_-

4V:5/2 (3) way solen0|d valve 1:100 Series 10: Single coil

DC12v  DC24V BIank. Without light indicator 1F-20F

4A: 5/2 (3) way air pilot valve

Ise 3V: 3/2 way solenoid valve

3A: 3/2 way air pilot valve

iSpecification

Valve Type

20: Double coil
30C: Mid-position closed

06:1/8"

B: Sub-plated mounted
(for 5/2,5/3 way only)

AC24V
AC110V

50Hz/60Hz
50Hz/60Hz

LD: Brown with light indicator
LD1: White with light indicator

30E: Mid-position vented

NC: 3/2 way normally closed

AC220V 50Hz/60Hz ~ W: Lead wire

30P: Mid-position open

NO: 3/2 way normally open

AC380V 50Hz/60Hz

4V110-MS5 | 4V120-M5

4V130C-M5 | 4V130E-M5 | 4V130P-M5 | 4V110-06 | 4V120-06 |4V130C-06 | 4V130E-06 |4V130P-06

4A110-M5 | 4A120-M5 4A130C M5 4A130E M5 4A13OP M5 4A110-06 | 4A120-06 4A130C 06 4A130E-06 4Al30P 06

5/ 2 way 5/3 way

5/2 way 5/3 way

QE, QEA

ST

HSV

Effective Cross Section Area

Valve Type

10 mm? (CV = 0.56)
3V120-M5

7 mm? (CV = 0.40)
3A110-M5

3V110-M5

3A120-

12 mm? (CV = 0.67)
M5 | 3V110-06 | 3V120-06
3/2 way

9 mm? (CV = 0.5)
3A110-06 | 3A120-06

Effective Cross Section Area

10 mm?® (CV = 0.56)

12 mm? (CV = 0.67)

Port Size Inlet, Outlet, Exhaust Port = M5 x 0.8 Inlet, Outlet, Exhaust Port = G 1/8"
Working Medium 40 Micron Filtered Air
Operation Internal piloted
Working-pressure 0.15~0.8 MPa

Max. Test Pressure 1.2 MPa

Ambient Temperature 5~50°C

Operating Voltage Tolerance + 10%

Power Consumption AC:28 VA DC:28W
Connector Protection F Class, IP 65

Wiring / Connector Cable / Lead Wire or DIN Connector
Switching Frequency 5 Cycles / Sec.

Response Time

0.05 Sec.

2-|P01



ce 4\V/100 Series

1509001:2000 Solenoid Valve, Air Piloted Valve

i Overall Dimension
Valve
4V100
§ 4V110-M5 g 4v110-06 10l
4V200
AB i MAB 535 4v300
RPS *ﬂ” RPS ‘82—5’1 4V400
i | | | Manifold
C \ | C ‘ ! 3v1
I ] I
j thl]j 2.93.3 | scus f i l 2.03 3 =
5-M5x0.8 | | - | - | | t[?j -
251 N = | | 2ol | 144 : Jl\j\F/SD
T T T
R 4T t| ) _
1 Qjm —$6D éCj ! QE _éﬁio VE VZ
\ Sl [le 8 [P | © o
| Il |0 (Y . <t |l @ BM, PU, AM
i - - [ Dol O Tiv Diaphi
& J T‘ < 8l e A Dol & ! N o B 5 pepregn
o5 2233 13.0 o5 || \e.z33 NI v
570 180 270 [ h3 o
18.0 2w
2W(Big)
2pP
§ 4v120-M5 § 4v120-06 2
AR 535 AR I VX
EM:“ 325 EM] 325 PU
RPS ‘—;L RPS
arm (i mim == = i PU225
1 B C 2Q
| | | | | |
! : | ! : | JEL5404
™ swsos | i 2-93.3 | 2.23.3 | s.51/8 | i 2.03 3 | 2.23.3 JEL6213
| 25| | o | | 25| | o | Pulse
_szd{ | €Z N | & — - | QZ §_f G JEL, JZF
N BEE SERdIE o (D MBE o | o 4
N [ % < 8 w Y 1 @ < n M
| < N Do RIEE . Tsv86
1‘ o o g L é,m_a_ MPV
| ) 95| L3
0 4 a o o | g g | ] o puald
B : ? By s B == o =i O 0 Fﬂlﬂ 3 HY, K
! [ls] | 1 !
il : gl ¢ :
I I 1
T T T T T 4F
95! 130 27.Q 13.0 MSV
270 80 : 8.0 ™
ASC, RE
QE, QEA
€ 4v130-M5 § 4v130-06 s
30C 30P 30E Soé: CZDE’ 205 HSV
AB A B A B A
=AY A= L= ANVAVAPFA= 1=\ I V7A= =AY A= E=ANAVAP/A= =0\ R T7A=
RPS RPS RPS RPS 58R5PS RPS
535 i
-825 -325
1 I 1
| ‘ | | |
1 I 1 I 1 I
1 1 | + T |
T T T T D:]j
Euﬂj j |
i 2l | | | sl | |
T 5-M5x0.8 T 2233 T 2.03.3 T 5-G1/8 T 2-03.3 T 2.03.3
| | | | [/ |
" (@ " A 0 "
BPE d— b e P
| — 1 —1 T
N | © J7P3 o | (D | s o [l
a < Q a | < @)
[ ) ‘_——? 0 ¢ o] pEETan ) Ju!
! v ?\\ I -_Q)Q ! 1.
i 2] 9.5 u INNNIE;
uf E "l ol | i F-|o g @ |U it = ©
L 1|o o o [, |o L |o o B
8 | A E o e o s
1 I ]
T | s | N $
ananin} ot
Sk iz o 27.0 1ol
27.0, 18.0 18.0

2-|P02



Valve

4V200
4V300
4V400
Manifold
3v1

JEL

JZF

MVSD

VF, VZ

BM, PU, AM

Diaphragm

Coil

2v

2wW

2W(Big)

2P

2L

VX

PU

PU225

2Q

JEL5404

JEL6213

Pulse

JELJZF

4H

TSV

MPV

4HV

HV, K
R

4F

MSvV

M

ASC, RE

QE, QEA

ST

HSV

4\V/100 Series

Solenoid Valve,

ﬂ Overall Dimension

Air Pilot Valve

§ 4A110-M5
AB
RPS
[3’|8l
5-M5x0.8 HHH . | 223.3
| |
T O T
I v",\ &
! o < —$ 0
| 0 3 —!o 9
I
@ N - |
E[ !T(\J ] Q: M
| <~
9. 5 2-03. 3 13.0
27.0 18.0
§ 4A120-M5
AB
RPS
2-G1/8
i 5-M5x0.8 :‘_i" i 2-03. 3
1 T O 1
Q«:Ib/ K ] —
[ 0 @]
o DUERNEIN
1
_d?em. | \\rmq n _/?
@] @] 1 : 10
NI i \" gl T o
Wl i L@
9.5 \2.z3.3 13.0
27.0 18.QQ
§ 4A130-M5
30C 30P 30E
ANYNNTZA S ANYAVAFFA NN WP
T RPS Aps T mPs
2-G1/8
i Ei_‘} :
! 5-M5x0.8 T ! 2-03.3
L . |
00 i | —
o1 © @)
| & (L j; g
| Yo
o) _d'}ég ' im i
NIERA il o {1 e
J Ll | o
o 5| \2.23.3 ' lhzo
270 18.0

2-|P03

§ 4A110-06
AB
RPS
G1/8
‘ — ,
i | 518 i i 2.03. 3
A +—0 :
I NN AT
| 79 o
G i [} © o
. Tir g
L o] o
; * ] =
01 o5 || \e.z3.3 3
3 570 130
80
§ 4A120-06
AB
RPS
2-61/8
L \ I
i 5-G1/8 m i 2.093.3
1
LA +—{ O !
A 1 q— —
\J | | Y]
110 G| o
uy] 1 - © o
a G/ | ¢ o S| M
oo . Kg N
© NI u] i)
al | rh a
| [ |
2 EX=] \2.23 3 3
270 30
80
§ 4A130-06

0C
AB
T

-], J77)- NN

77

-
=]

2-G1/8
1 —\A "
. N ’
| . |
1
— 5:G1/8 T — 2833
| J : 0 |
f | '
TO PLE: K
1y} AY
3 | D | ol 1° A8
f]" | 10 | €'Klﬂ l
0 N o | M 0 il 1in
o I | o 8o
i 1
| L'—J : o
o] EXS \2.z3.3 3
270 3.0




€S

ISO9001:2000

i Overall Dimension

§ 3v1i10-M5
NC NO
CANVA= I WARN=
PR PR
53.5
32.5
Fm (o —

] 1

| I

] 1
- 5

| 3-m5 | o 2-93.3

| ﬁif* | 0 |

V4 T a8
o e B
-&;— © 2-03.3 i by ol | e
i | g E

= 2.7 = 3.0
5.0 18,
§ 3v120-M5
A
PR _&.'
o T o
| L 1
| I |
I ! |
1 |
i T
| 3ms E i 00| 5.p5.5
|/ — 25| ! !
i AT af © N E
(@) @] d @]
PO 2-93.3 i 5 N —é— o
A = @ - g\}F <~
i 7.7
| = ol L
i g m s 0
—— 0 - ] © Tl <
e | {° 1K
| L k3
oo T
27.0 13.0
he.o
NC NO
3A10-M5 R g
PR PR
G1/8
i 3-M5 il ¥ opa.3
L |

1 - 0 I
R AREE 19
“+*-10 2-03.3 | < | 0 01| o
~Oof S S I o sl

! ) 19} 0 h 10,

3 | s ay B o
7.7 13.0
27.0 18.0
f3A120-M5
=R
G1/8

;'@ 3-M5 T im 2-93.3

! L .

7 s o -
"5 1 [of @ N
PO 2.93.3 R ? 0
~Qxr— | 5 0 T

i | ) S

g 1| 3 {1 [|8
=1 —.7 = 150

£7.0 he.0

4\/100 Series

Solenoid Valve, Air Piloted Valve

§ 3v110-06

FAVVAS

}

3-G1/8

=y

resandl— L

e
his.0

v
oh 4.0

§ 3v120-06

55.8

§ 3A110-06

®
0]
3
N
@

% |
i |
his.0

oh4.0

03A120-06 ~{\[/}-

e

3-G1/8

|
i’
|

2

I‘]S.G

o 26.5

NO
WARN=
PR
53.5
32.5
D:D;ID
‘ |
! 1
f
B © bod| o.zz.3
2.5 | 0 0
__,l 09] !
AT (3 N
2.03.3 [ —4} o
a] ) @I hai
o} ol P
e Y Hay
7.7 j 3.0
7.0 8.0
53.5
325
225
DJ];II]
I
1
; |
| bo| o
2.5{__\ | 2.093.3
L T
AR E INIE
2-93.3 d Sloa P o
w <
¢ oAl
7.7 .
==L IR . o) o
‘ @ i <
" =
E IIDIZD]
27.0 1L 13.0
18.0
NC o
CANVARI AR
PR PR
G1/8
r‘l
il ™ cpa.3
I |
— n | &S—
1 [ot o ,{\@D_
2-93.3 i <| 0 17| o
=L || of bl =
. mn M | 10,
| ps Uy B9
7.7 i 1 =}l 13.0
27.0 18.0
PR
G1/8
= _!@ 2-23.3
4 :
] (@] [
T [of o NI
2-93.3 i =| © | o
| a o] AT
. Q < ! n
1| of |||«
e @ |
Z.7 1130
27.0 h8.0

Valve

4V200
4V300
4V400
Manifold
3v1

JEL

JZF
MVSD
VF, VZ
BM, PU, AM
Diaphragm
Coil

2V

2W
2W(Big)
2P

2L

VX

PU
PU225
Q.
JELS404
JEL6213
Pulse
JEL, JZF
4H
TSV86
MPV
4HV

HV, K
4R

4F

MSV

JM

ASC, RE
QE, QEA
ST

HSV

2-|P04



